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DATI DI TRACCIAMENTO

NV29A

L1

S1

C1

S2

L2

S3

C2

S4

L3

S5

Xi=2495863.62 m

Yi=4562000.35 m

---------------

Xf=2495865.08 m

Yf=4561998.62 m

A= 79.97

Sv= 31.99 m

r= 0.21 m

TL= 21.33 m

TK= 10.67 m

C1

X= 2496028.44 m

Y= 4562115.34 m

---------------

V1

X= 2495895.98 m

Y= 4561961.95 m

---------------

R= 199.92 m

Ac= 9.973114g

T= 15.69 m

Sv= 31.32 m

A= 79.97

Sv= 31.99 m

r= 0.21 m

TL= 21.33 m

TK= 10.67 m

Xi=2495936.75 m

Yi=4561936.73 m

---------------

Xf=2495946.03 m

Yf=4561930.99 m

A= 50.98

Sv= 30.59 m

r= 0.46 m

TL= 20.43 m

TK= 10.23 m

C2

X= 2495914.08 m

Y= 4561850.30 m

---------------

V2

X= 2495986.49 m

Y= 4561905.96 m

---------------

R= 84.96 m

Ac= 23.104428g

T= 15.59 m

Sv= 30.84 m

A= 50.98

Sv= 30.59 m

r= 0.46 m

TL= 20.43 m

TK= 10.23 m

Xi=2496000.27 m

Yi=4561860.42 m

---------------

Xf=2496003.15 m

Yf=4561850.90 m

A= 56.98

Sv= 21.65 m

r= 0.13 m

TL= 14.44 m

TK= 7.22 m

C3

S6

L4

S7

C4

S8

L5

C3

X= 2496149.92 m

Y= 4561884.01 m

---------------

V3

X= 2496013.69 m

Y= 4561816.07 m

---------------

R= 149.94 m

Ac= 12.289219g

T= 14.52 m

Sv= 28.94 m

A= 56.98

Sv= 21.65 m

r= 0.13 m

TL= 14.44 m

TK= 7.22 m

Xi=2496035.16 m

Yi=4561786.70 m

---------------

Xf=2496070.96 m

Yf=4561737.74 m

A= 41.48

Sv= 21.52 m

r= 0.24 m

TL= 14.36 m

TK= 7.19 m

C4

X= 2496142.06 m

Y= 4561776.40 m

---------------

V4

X= 2496088.30 m

Y= 4561714.02 m

---------------

R= 79.97 m

Ac= 11.916497g

T= 7.51 m

Sv= 14.97 m

A= 41.48

Sv= 21.52 m

r= 0.24 m

TL= 14.36 m

TK= 7.19 m

Xi=2496114.31 m

Yi=4561700.37 m

---------------

Xf=2496128.80 m

Yf=4561692.77 m
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DATI DI TRACCIAMENTO

NV29B

L1

C1

L2

Xi=2495879.30 m

Yi=4561966.93 m

---------------

Xf=2495871.26 m

Yf=4561977.02 m

C1

X= 2495882.99 m

Y= 4561986.36 m

---------------

V1

X= 2495865.60 m

Y= 4561984.12 m

---------------

R= 14.99 m

Ac= 69.377784g

T= 9.09 m

Sv= 16.34 m

Xi=2495869.28 m

Yi=4561992.43 m

---------------

Xf=2495869.63 m

Yf=4561993.24 m

DATI DI TRACCIAMENTO

NV29B QN

C3

C4

C3

X= 2495859.21 m

Y= 4561989.60 m

---------------

V3

X= 2495866.56 m

Y= 4561991.71 m

---------------

R= 7.00 m

Ac= 52.864183g

T= 3.08 m

Sv= 5.81 m

C4

X= 2495882.99 m

Y= 4561986.36 m

---------------

V4

X= 2495865.44 m

Y= 4561983.43 m

---------------

R= 16.99 m

Ac= 38.324654g

T= 5.28 m

Sv= 10.23 m

DATI DI TRACCIAMENTO

NV29B QS

C1

C2

C1

X= 2495882.99 m

Y= 4561986.36 m

---------------

V1

X= 2495870.75 m

Y= 4561981.77 m

---------------

R= 12.99 m

Ac= 13.726952g

T= 1.41 m

Sv= 2.80 m

C2

X= 2495871.37 m

Y= 4561983.38 m

---------------

V2

X= 2495868.91 m

Y= 4561988.94 m

---------------

R= 1.00 m

Ac= 178.972594g

T= 6.00 m

Sv= 2.81 m

PLANIMETRIA DI TRACCIAMENTO - NV29A
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